Seat No, Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C322401 Date: 03/06/2016
Subject Name: Basic Electronic Circuits
Time: 10.30 AM TO 12:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2, Make suitable assumption wherever necessary.,
3. Each question is of 1 mark.
4, Use of SIMPLE CALCULATOR is permissible, (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option, U8 ol @Qscul.
In insulators, the energy gap between valence and conduction bands is ........
1, A. very large B, ZEro
C. very small D. none of the above
6de? Hi AAR uel §552let WS A oll Vet AU........82
oA | aal AR B. | goat
Co | el el Do e ol As ual «18.
In a semiconductor, the energy gap between valence and conduoction bands is about ........
2. A. i15eV B. 100 eV
C. 50eV D. eV
Allssser i ASR Ual 555210t &S 2 ofl Aot AU........8la
O[A [15ev B. [100eV
C. 50eV D. eV
The electrons in the conduction band are known as ....... .
3. A. bound electrons B valence electrons
C. free electrons D, none of the above
$5501l0l &S Hi BASlot............... 3% sl
3. | A | cu@s s@selet B | adu sdslet
Co | 4l s@sglat Do | ol As ug 8l
The most commonly used semiconductor is ....... .
4, A. Germanium B. Silicon
C. Carbon D. Sulphur
Hlel el Gualal Hi wicdd 555282 e B.
¥, |A | gife{lan B. | Rcllslet
C | stelet D. | wese
‘When a pentavalent impurity is added to a pure semiconductor, it becomes ........
5. A. an insulator B. an intrinsic semiconductor
C. p-type semiconductor D. n-type semiconductor
a2l? Neldeler wy ekl A geed Axllssse Hi GRal H 2 RUP A oo olal,
wo | A | dyder B. | 6dllls Qllssser
Co Wl sy Aalssses D. | Qot 2y Axllssser
A pentavalent impurity has ........ valence electrons.
6. A. 3 B. 5
C. 4 D. 6
Yeldcioz UYLkl Hi v, A& BAsTlet B2t
s. |A |3 B fy
C. 8‘ D. 5
Addition of trivalent impurity to a semiconductor creates many ........
7. A, holes B. free electrons
C. valence electrons D. bound electrons
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2ledcoe Wy el B LR WYL v Geus 53 B.

o | A | 8leu B. | 4 sdsglet
C | Qdeu sdselet D. | olls s@sglot
As the doping to a pure semiconductor increases, the bulk resistance of the semiconductor

8. A. remains the same B. Increases
C. Decreases D. none of the above
WU} gt Allss582 of SIUDOL cllRelHl WA @Y Asll tles BB oo

¢ | A | uvll o 23 B |l
C w2 Do [ e ofl As wal «tdl
In a semiconductor, carrent conduction is due ........

9, A. only to holes B only to free electrons
C. to holes and free electrons D. none of the above
Allssser Ul 522 of et ... ol 520 &Ll

e. |A | g5l At B | g5et 4l s@sglat
G| ale wal £l sdslet Do | aydd ol As ugL 18l
A forward biased pn junction has a resistance of the ........

10. A. order of O B. order of k Q)

C. order of MQ) D, none of the above
sleald cla Ulel salet Hi sl ofl BHct............. i slaL.

0. | A. Q B. kO
C | MQ Do o ofl As uat <8l
The barrier voltage at a pn junction for germanium is about ........

11. A. 33v B. 3V
C. 0.3v D. 0.7v
g oflat it UlRel afsatet 12 ol Af2aR ofl Bt oo, 8lat

1 A [33v B. [3v
C. 0.3v D. 0.7v
The leakage current across a pr junction is due to ........

i2. | A minority carriers B, majority carriers
C. junction capacitance D. none of the above
et wsalel oll ¥ §228 A oo, ol 5120 alat

2. | A [ uselddl ¥l B | Aol 3dlare
C. | ofsalet ¥a{len Do e ol As ual <18l
With forward bias to a prn junction, the width of depletion layer ........

i3. A, decreases B. Increases
C. remains the same D. none of the above
a2l¥ UlAet ¥salel ol gl2aid sllal s2al HL wd @ 3wdaet Az o uslaled...

3. |A | ud B. |a@

Co | uRulley 23 D | s ol As ual o8l
In an intrinsic semiconductor, the number of free electrons ........

14, | A equals the number of holes B. is greater than the number of holes
C. is less than the number of holes D, none of the above
6dlalls Axllssser H gl sAsglet ol dvel............

1y, | A | et Recll « 8la. B | 8t seell ay da
C. | 8let sacl el gla Do | ol ol As uel stél.
The forward voltage drop across a silicon diode is about ........

15. A. 0.7V B. 1.2V
C. 0.3V D, 12V
Alellslet stels i glead dle@ew slu ofl B,

W A Tov B 1.2V
C. 0.3V D. 12V

16. A diode utilises ........ characteristic for rectification.

2/9




A. reverse B. Forward
C. forward or reverse D. none of the above
sials 2s@ldl¥atet ol oo cAlal@scll =l Gualal 82,
1. | A | flaad B. | gzl
G gRaf waal Rad Do [ ol As ugl =&l
If the doping level in a diode is increased, the width of depletion layer ........
i7. | A remains the same B, is decreased
C. is increased D. none of the above
ol stalls of sldlol Aaet clrulzeall Hi 3 ol Aot 31dalet AR ol udoual
9. | A | uull ¥ 2} B w2
C |al Do [ ol ol As ual o8l
A zener diode has ........
i8. [ A one pr junction B. two pn junctions
C. three pr junctions D, none of the above
Ret St2As A ... sla
1. | A | As ¥salet B. | Q ¥salet
Co | ool o satet Do [l ol Qs ugl =&l
A zener diode isused as .......,
19. | A an amplifier B. a voltage regulator
C. a rectifier D. a multivibrator
SetR stalls oll Gualal ..M &L
e, | A | Anellsiar B. | dlew Yyde?
G| esdlsier D. | ucdlaager
A zener diode is always .......... connected.
20. A. Reverse B, Forward
C. either reverse or forward D. none of the above
Ret2 stalls sNal ........... UL glstal.
0. | A | Al B. | gzl
Co | flad ¥ slrasd Do e ol As wal =8l
A zener diode utilises ........ characteristic for its operation.
2i. | Al Reverse B, Forward
C. either reverse or forward D. none of the above
Fet? slals Aetl AUt HE oo cled@dsel ol Guallal s2.
. | A | Hladd B. | glza
Co | Qladd ¥ glRaid Dol apd ol s ugt «tél.
The disadvantage of & half-wave rectifier is that the ........
22, | A components are expensive B. diodes must have a higher power rating
C. output is difficult to filter D. none of the above
8les Aol YsEl5laR ol ARSIAUEL Ao B.
22, | A | snllalz Ala B. B | sials
Co | wuBeye A dleer 539 uuz d. Do [ ol As ual ol
If the A.C. input to a half-wave rectifier has an R.M.S. value of 400 /\f 2 volts, then diode PIV rating is
R
A. | 400/V2v B. | 400 xv2v
C. 400V D. none of the above
ol 400/v2 clce RM.S. Al Betye A slesdal sdlsiar o wtdlal ol sials o1l Prv 32l
I dlal wlesal.
A [ 20042V B. | 400++v2v
C. | 400V Do | o ol As wat <8l
24 The ripple factor of a half-wave rectifieris ........
A |2 [B. Ji21
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C. |25 [D. [048
sles Aol slsiaR ol Fud ¥se2 ... 8lal.
¥ A ]2 B. [121
C. 2.5 D. 0.48
The PIV rating of each diode in a bridge rectifier is ........ that of the equivalent centre tap
25 rectifier.
’ A. ong-half B. the same as
C. Twice D. four times
@y sls122 o €25 st2lds ot P1vV 2200 A Az 3u ¥slsiae sl ............ slat
U | A | st B aew
Co | wau Do | e owu
There is a need of transformer for ........
26. A. half-wave rectifier B. centre-tap full-wave rectifier
C. bridge full-wave rectifier D. none of the above
2lugli? ofl 32 o, Hi sl
5. | A | sles Ad wsdlslaR B | @2z 2u gt Aot dsélglarR
C | set Aa (@ ¥sdlslar, Do | ol As ue 8l
The maximum efficiency of a half-wave rectifier is ..........
27. | A, | 40.6% B. 81.2%
C. 50% D. 25%
slgAlel Rs2lslauR ol HatiH stdetHel.......... 82l
2. A, [40.6% B, [812%
C. 50% D. 25%
The capacitance of a varactor diode increases when reverse voltage across it
28. A. decreases B. Increases
C. breaks down D. stores charge
Adse? stals oll xa{l2a all w20 2ol sialls o Aol dl@w A .. ulal.
2. | A | welsauml B | cuzaun
C | As siBet sreum Do | wed & el seauml wd,
To display the digit 8 in a seven-segment indicator
29. | A C must be lighted B. G must be off
C. F must be on D. All segments must be lighted
Actet Aowle Bud w8 BAA sal HER......
e, | A |l & usil@ld s2al o W3 B. | o it 8ldl #s.
C. | Alg allet Sl o Wb Do | e o Rotile ysilElct Slau wled.
When the light increases, the reverse current in a photo-diode
30. A. Increases B. Decreases
C. is unaffected D. none of the above
A2 ysial dll @R, slal stalls ol Aol s2e ...
30. |A |aR B e
Colai %ot W3 Do e ol As uat o8l
To display the digit 0 in a seven segment display
31. | A A must be lighted B. F must be off
C. G must be on D. all segments except G should be lighted
Actet Aoz Bud W o BAd sa HE......
A |8 ol ysiBld sl o ud B. | Qg oit &lall #lssdl.
39 _
C. | o vllot &lal % s % [Raltat ol ¢l % Aoz ustllct e
el
A transistor has ........
32. | A one pr junction B. two pr junctions
C. three pr junctions D. four pr junctions
32. | glPeR av........
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A | As YAl wsalel gt B. | A Aa osaiet slat
Co | oial Ul Aet ofsatet 8l Do 2z YlRet ofsaet 8la
The number of depletion layers in a transistor is ........

33. | A Four B. Three
C. One D, Two
2lb¥e? M 3r@alet Az ofl Hual......... alat

33. | A | B. | o
C. s D. a
The element that has the biggest size in a transistor is ........

34, [ A collector B. Base
C. Emitter D. collector-base junction
2Bz i Qe A2l ewol....... ANz slaL

3%, | A | sAseR B. | an
G| Aller D. | s@ser doy sl
A transistoris a ......... operated device.

35. | A Current B. Voltage
C. both voltage and current D, none of the above
alde? A o Al Bonssy .

3w | A | s2e B | dew
Co | 522 wal dle@w o Do ol As uel =18l
In an npn transistor, ....... are the minority carriers.

36. | A. free electrons B, Holes
C. donor ions D. accepior ions
Npn 2@ Hl e e8] ¥dlaz sl B.

35, | A | 4l sdsdlet B. | dent
Co | Slellr wuast D. | wser watst
The input impedance of a transistor is ......

37. | A High B. Low
C. very high D. almost zero
22 ol Betye srllsu.............. sla

390. |A |ay B. | el
C [udl ay D B3R stos
In a transistor, ........

38. A. IC=IFE+1IB B. IB=IC+IE
C. IE=1IC-IB D. IE=IC+IB
2l Hloeeroeeeeeeeeeeen,

3¢. TA. JiC=IE+1B B. [IB=IC+IE
C. IE=1IC -IB D. IE=IC+ 1B
The value of a of a transistor is ........

39. | A more than 1 B. less than 1
C. 1 D. none of the above
2lbke? Wi o ol Buct......... alat

3¢. | A |4 sl ay B. | 4 52 2l
C. |q Do e ol Als uat st
IC=0lE+.....

40. A. B B. ICEQ
C. ICBO D. BIB
IC=0lE+....

¥0. A. B B. ICEQ
C. ICBO D. BIB
In a transistor if f= 100 and collector current is 10 mA, then IEis ........

41, | A 100 mA B. 100.1 mA
C. 110 mA D. none of the above

5/9




ol 2w Hi B=100 WA sAsE2 532 10mA S ol ,IE ofl BHcA .................

¥1. | A 100 mA B. 100.1 mA
C. |110mA Do ae ol s wat w18l
The value of B for a transistor is generally ........
42, A. 1 B. less than [
C. between 20 and 500 D. above 500
gl Hl p ol BHet......... alat
¥2. | A | q B. | 4 sl alledl
C. | 20 ol woo ol a2 D. | woo sl ay
The most commonly used transistor arrangement is .. arrangement.
43, A. common emitter B. common base
C. common collector D. none of the above
H2 edl Guallotdl el gl ol el 8.
¥3. | A | sldet Ale? B. | sliot Qs
C. | sluet s@ser Do e ol Qs wel o8l
The phase difference between the input and output voltages in a common base arrangement
i8 e,
M A 1807 B. |90
C. 270° D. 0°
SlHel Gl AUl Hi Bolye el WB2Yct c ofl cl@¥oll %33 cslclet .......... slaL,
¥¥. [A. 180° B. 90°
C. 270° D, 0°
The phase difference between the input and output voltages of a transistor connected in
45 common emitter arrangement is ........

LA |0 B. 180°
C. 90° D, 270°
slHot A{lz? HrUctl Hi Bolye WA WE2Yct a2 oll Al@Noll 33 dAsleld .......... alal

¥ [TA [o° B. 180°
C. 90° D. 270°
The voltage gain of a transistor connected in ........ arrangement is the highest.

46. A. common base B. common collector
C. common emitter D. none of the above
gl ofl o sl Uil HL Wl ay cleder et 1AL

¥s. | A | slHet A B. | fluet s@ser
G| Sluet Allez Do ol Qs uat o8l
ICEQ =(....... ) ICBO

47. |A. |B B. 1+a
C. 1+ B D, none of the above
ICEO=(........ ) ICBO
C. |1+ Do [ ol As wal o8l
A heat sink is generally used with a transistor

48 to .....

) A. increase the forward current B. decrease the forward current
C. compensate for excessive doping D. prevent excessive temperature rise
glPre? WA UHRL A e, 2 (32 Rls Gualol 1L wd B,

¥e. | A | slkad see aural B. | 2eaf s22 welsal
Co | ay Sidlal & aysue s2al Do | ctusttet ott ezl & 2Asel
The most commonly used semiconductor in the manufacture of a transistor is ........
49. A. germanium B. Silicon
C. carbon D, none of the above
222 A olotlaal {2 Wl ay aurid Axlssser ... 8.
ye | A | wileflan B. | flcllslet
C. | stolet Do | e ofl Qs ugl a8l
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If the value of ¢ is 0.9, then value of B is ........

50. | A 9 B. 0.9
C. 900 D. 90
ol aoll Bt 0982, l poll BH e, L2l

Yo, A ) B. 0.9
C. 900 D, 90
Transistor biasing represents ........ conditions,

51. [A. |AC B. D.C.

C. both A.C. and D.C. D, none of the above
222 of cllaf@ol .o At vl B,
ui. | A, | AC B. D.C.
C | AC uaD.C. v Do | i ol Qs ue 18l
Operating point represents ....... .
52 A, values of /C and VCE when signal is B. the magnitude of signal
) applied
C. zero signal values of IC and VCE D. none of the above
WU WL . %Y 52 B
A IC WA VCE ofl 1t veu? Rt | B | Rootet ofl B
U
wuQd slet A
Co e wa vee ol B3 Roetet Brd Do ol &l As w8l
Transistor biasing is generally provided by a ........

53. | A biasing circuit B. bias battery
C. Diode D. none of the above
2l erarllol Aeeddl oo LR vUaHL wa B,

uz. [ A | o wréle B awa dedl
G| sels Do [l ol As uwl o8l
For faithful amplification by a transistor circuit, the value of VBE should .......... for a silicon transistor,

54. | A be zero B. be .01 V
C. not fall below 0.7 V D. be between 0 Vand 0.1 V
2lBeer oll @ ncllgl¥olet 1R VBE of (5Het [Rcllsler gilDege HE........ E

uyx | A 3l B. 001V
C 0.7V srcll 2l ol Do lovaua 01vel a2l
The point of intersection of d.c. and a.c. load lines represents .........

55. | A operating point B. current gain
C. voltage gain D, none of the above
Al wal Ll dls cltsot oll Sl WH2 oo %Y 52

| A | sludll Wée B. | 522 et
Co | d@o Aget wiHl ol As ual o8l
An ideal value of stability factor is ........

56. [ A 100 B. 200
C. i0 D. i
Rollcfl?l 3522 oll vueel (Bud ......B.

s A T100 B. [200
C. i0 D, 1
The disadvantage of base resistor method of transistor biasing is that it .......,

57. | A is complicated B. is sensitive to changes in f3
C. provides high stability D. none of the above
2l cafdol A A A et oll Seglael A o 8.

wo. | A | opaedl B, B pad Ela 8,

Co | ay Relcll@l Do g ol As ual o8l
The biasing circuit has a stability factor of 50. If due to temperature change, JCBO changes by 1 pA,
58 then /C will change by ........
| A 100 pA B. 25 pA
C. 20 pA D. 50 nA
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oli2lol wesle ol Rele{ldl 3522 50 B. %l AlUHIet oll GlEdlel A SIREL ICBO 1 pnA B2el

we | e, IC.......... wect el
A. 100 nA B. 25 pA
C. 20 nA D. 50 nA
The operating point is also called the ........
59. | A. cut off point B. quiescent point
C. saturation point D. none of the above
AU WRELL Ube .............. ugl sdaal
ue. | A | seuls ude B. | Basie Wée
Co | Qe Wse Dol ofl s ugt «tél.
The disadvantage of voltage divider bias is that it has .......,
60. | A. high stability factor B. low base current
C. many resistors D. none of the ahove
dlezes (Belaus? délael dRgUEl ........ 8.
so. | A | G Rellelld] ¥se? B. ] ulel dos s2e
Co ] el waRlal Do [ e ofl As wal =8l
For proper amplification by a transistor circuit, the operating point should be located at ........ of the d.c.
61 load line.
| A the end point B, Middle
C. the maximum current point D. none of the above
2lBPe? wzsle sl aloal Al €l et HE, WUREDL WSS oo gy A Sl cdls
clesol HL glall lesdl
5. -
Al B B [ aeami
C. | ay Hl ay s22 Wse Do [ ol As ug «18l.
If the value of collector current /C increases, then value of VCE ........
62. A. remains the same B, Decreases
C. Increases D. none of the above
sdsze 53¢ IC ofl 1t 48 d, VCEl (BHcA ...
5. | A | wull o 23 B | w2,
C | alL Do | i ol As ug «1él.
When the temperature changes, the operating point is shifted due to ........
63 A. change in /ICBO B. change in VCC
G change in the values of circuit D. none of the above
Tesistances
w22 cdluHlel ol 2 W2 Wot ..ol 51200 WEALRL
s3. | A | ICBO ot wEcu B. | vee o aeeua
C. | w2éle waRlHllell WEEla Do e ol As el «1dl
In voltage divider bias, VCC =25V ; R1 = 10k, R2=22kO; RC=3.6kQ and RE =
64 1 kO What is the emitter voltage ?
’ A. 6.7V B. 53V
C. 49V D. 3.8V
@y (Sctats? alietat i, VCC =25V 3 Rl = 10kC; R2=22kQ ; RC=3.6kQ Wa RE =
gy | 1k ol Aller Al ofl (Bud 3ed aate
A. | 6TV B. 53V
C. 49V D. 3.8V
A zener diode isused as a ..o voltage regulating device.
65. | A. shunt B. Series
C. series-shunt D. none of the above
FolR SlAS....onnnne. e 20YAZloL Bausy ¥ Gualol alal
su. | A | B. | Rl
Co | Rl wat sl Do | i ol As ug «1él.
66. When load current is zero, the zener current will be ............
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A. ZEro B. Minimum
C. maximum D. none of the above
Als 522 B2A 8lal U Belr 522.......... sla
sg. | A | B B | 2lleot Wi viley
Colay Hlay Do [ o el As gt =18l
The zener current will be minimum when ............
67. A. load current is maximum B. load current is minimum
C. load current is zero D. none of the above
59. | A B. .
C. Do 2l ol As et o8l
When an A.C. signal is applied to an amplifier, the operating point moves along ........
68. A. D.C. load line B. A.C. load line
C. both D.C. and A.C. load lines D, none of the above
a2 Anellsiar o Al Roete aiuciHl wd @ vllu>EL WHe..oo e oLy st2l
sc. | A | slall els aet B Al dls eset
G Al wa 1l As cussat Do | ol ol As ue 8l
In the zero signal conditions, a transistor sees ......... load.
69. A. d.c, B, a.c.
C. both d.c. and a.c D. none of the above
@321 Rt $Slatot Hi 2lDeR ..., cls wejedl.
se. | A | <l B. |4l
G Al wa Al wa Do a ol As et ol
The input capacitor in an amplifier is the .......... capacitor.
70. [ A. coupling B. Bypass
C. leakage D. non¢ of the above
Anellsiaz of sotye ¥0Aler A o 30{le: .
9o. | A | sucflal B | cranwa
Co | ellyer Do | e ol Qs ugl a8l
etk ofe sk e s o e ok ke o ke
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